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DDiirreeccttiioonnss:: Read the passage. Then answer the questions below. 

 
 
Passage 
 
 
Erin is at a restaurant. 
 
She eats cookies. 
 
She eats ice cream. 
 
She eats cake. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
Questions 
 
 
1) Where is Erin? 
 

A. She is at her house. 
B. She is at a restaurant. 
C. She is at school. 

 
2) Erin eats 
 

A. breakfast 
B. dinner 
C. dessert  

 
3) What food does Erin eat? 
 

A. cake 
B. cheese 
C. bananas 

 
4) Erin does not eat 
 

A. pie 
B. cake 
C. cookies 

 
5) Erin probably also eats 
 

A. bananas  
B. chocolates 
C. sandwiches
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Answers and Explanations 
 
 
1) B 
The passage says, “Erin is at a restaurant.” Choice (B) is correct. 
 
2) C 
The passage says, "She eats cookies. She eats ice cream. She eats cake." 
These are sweet foods. You eat sweet foods for dessert. Choice (C) is correct. 
 
3) A 
The passage says, “She eats cake.” Choice (A) is correct. 
 
4) A 
The passage says, "She eats cookies. She eats ice cream. She eats cake." The 
passage does not say that Erin eats pie. Choice (A) is correct. 
 
5) B 
The passage says, "She eats cookies. She eats ice cream. She eats cake." 
Cookies, ice cream, and cake are all sweet. Using this information, we can 
understand that Erin likes to eats sweets. Bananas are not sweet. Sandwiches 
are not sweet. Chocolates are sweet.  So, Erin probably also eats chocolates. 
Choice (B) is correct.  


